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2AM: BESXA
B -y
Sl S 2F L -5 JlY 25 CERED
SA - BB B () - MM - BES Ol &t o San HmEET
04 BIZHHAIE RS 100,000 100,000 0
OFEsHAANS ITEEUE 100,000
HEZESFANAE TS 6,047,708 4,506,098 1,541,610
= 147,620
2 3,538,000
= 2,362,088
207 A RO 200,000 1,060,000 860,000
02 ™ AR 2] 200,000 1,060,000 860,000
S300I8e HEZEANLAE 25 100,000
OFMEZY U QutL0A D& 100,000
403 XIS E X201 & 5,056,286 2,762,678 2,293,608
= 56,000
2 3,538,000
< 1,462,286
01 AXSHMA2E = 4,833,286 2,692,678 2,140,608
OANZ? M3 E HllE2AIAE 2= 56,000
= 56,000
OCCTV Sg2MHH 2= 1,514,000
= 1,514,000
Oogol Es+x49 CCTV £X 1,194,700
2 919,000
< 275,700
O0eol e+d CCTV X XI& 1,436,500
= 1,105,000
< 331,500
ontsfdes 442,086
Ostnes 40,000
OCCTV &X X & 150,000
02 BJ| 2SOl CH ek CH &8 At & HI 223,000 70,000 153,000
OANZHYZERAIAE(DR) RAES 65,000
OANZREHESIZAANAE(DR) RAE = 158,000
405 XtatE SHI 791,422 619,084 172,338
= 91,620
< 699,802
01 XA = ZFH SHI 791,422 619,084 172,338
OMNECHEFIEZANAH B2 & A2 MS38E
Mol = 2AAE 2= 391,422
= 91,620
< 299,802
Oozttet NEEX S 250,000
OLUXNE&EANAE A= 150,000
SHESAAANSEESNR 971,300 1,868,000 A 896,700
< 385,190
£ 586,110
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SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
308 XHXIGH SO0l & 134,000 168,000 A 34,000
01 AIKISHENEXZ 134,000 168,000 A 34,000

OO0 25N (2A A=SHS) 134,000
402 SI2FXHE0| & 837,300 1,700,000 A 862,700
& 251,190
= 586,110
01 QI2tXE8 X 837,300 1,700,000 A 862,700
Os0lE N9 ZHY I X2 (BeN) +# 602,000
& 180,600
£ 421,400
O22 2A0/WOoIEWi-Pi) 2= 235,300
o 70,590
£ 164,710
PNR- SRR SN 210,056 241,012 A 30,956
= 132,000
= 78,056
201 et 4,000 5,000 A 1,000
03 A2 H| 4,000 0 4,000
OXES0OIE 2l ¥3as 4,000
308 XAHXIEHSOIA 206,056 236,012 N 29,956
= 132,000
o= 74,056
01 AIXSHMENMNEX= 199,056 229,512 N 30,456
O&dZs0le T2 22X e 199,056
= 132,000
& 67,056
05 AIXISHHZ2ES 2 7,000 6,500 500
OEBEA0RAANAEH SAELx 22 7,000

HREHOAAY PE U 2 730,000 1,026,603 296,603
201 et 212,000 326,603 A 114,603
01 AR 22l ] 12,000 5,000 7,000

OF, Al -2 AEEo &HX AS 4,000
OMOIHEHNUNESHAEH Bt2H 29 X4
= 8,000
02 2=2=24%H| 200,000 321,603 A 121,603
OMOIHEHUHSHEH SOt 249 200,000
207 I & d| 63,000 60,000 3,000
02 & AR EHY| 63,000 60,000 3,000
OHdioled A SHAISW 20K 63,000
403 XX SHHS K20 & 40,000 40,000 0
02 BII2S 0 CHSHCHEH AFS HI 40,000 40,000 0
OFR FESA JIEtAL HA-El 40,000
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Sl MES =X Y U-BY 08 RS (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
405 RHoHE S HI 415,000 600,000 A 185,000
01 AL EZFH S 415,000 600,000 A 185,000
OUESRZA EcHE 24 ZMAAE 2= 265,000
OMIBE el HEBIIS2elAAE 2= 150,000
HEAX oA 636,377 566,273 70,104
= 345,276
< 291,101
201 L2l 151,573 128,908 22,665
= 97,199
< 54,374
01 At 2t 2/l 47,399 5,538 41,861
OZFEARMNAALZ=E 23| 4,574
= 2,287
< 2,287
OHUES EZUH 2Z(ZAE S) 42,825
= 42,825
02 =224l 104,174 123,370 A 19,196
OAEe O8lPC E2 104,174
= 52,087
= 52,087
202 o4l 4,954 5,940 A 9086
= 2,777
< 2,177
01 SLHOYI 4,954 5,940 A 9086
OFEAXMA & CHUSS dgadyg =8 4,954
= 2,777
< 2,177
301 gt d= 192,400 159,500 32,900
= 96,200
< 96,200
01 Ml2ZE 6= 190,400 157,500 32,900
OFESHMEXRDNI B3 190,400
= 95,200
< 95,200
11IIEtEA S 2,000 2,000 0
OHEESHUEXD|I o848 g3l 2,000
= 1,000
< 1,000
307 ©12+0I & 287,450 271,925 15,525
= 149,100
< 138,350
02 RIZHENEXS 287,450 271,925 15,525
OZEFHANS E&gusd N 226,300
= 87,950
< 138,350
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Sl MES =X Y U-BY 08 RS (S &2)
- - _ L3
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2

O%HYUY =SS ga8dH 29 N3 61,150
= 61,150

HEXNSAAY SX2e & &= 2,414,500 2,314,090 100,410

HEANAERSIES 1,736,500 1,896,090 A 159,590

201 et | 1,139,500 1,069,090 70,410

01 AP 22| H| 7,500 0 7,500
OFBXIAANAE SERANES X3 7,500

02 224 H| 1,132,000 1,069,090 62,910
OXFBXIANAE S& SRANESE 831,000
OFESAHEH SAE 200,000
OUHERKIANE SAHI 30,000
OSsdBHdH MIIEH KRAEE 10,000
OUEHAMSSEH B4 23,000
O&AEI|Z |IPTV KA 14,000
OHHEEMAE SKAEL 24,000

401 AIEHI 2 2 0HY| 477,000 477,000 0

01 Al&Hl 477,000 477,000 0
O&A=D|2, AFY A LY 477,000

403 XX SHHS K20 & 120,000 350,000 A 230,000

02 2 2SOHSHEALS 120,000 350,000 A 230,000
OANEHHHE A AE 120,000

olAEHYAESs/wY 664,000 398,000 266,000

207 I & d 300,000 98,000 202,000

02 & AHJH EHH| 300,000 98,000 202,000
oges s/ Ry 300,000

405 XHAHF S HI 364,000 300,000 64,000

01 XAt 2 ZF S| 364,000 300,000 64,000
OkLE ZEH WM 300,000
OZcteY E=E 64,000

SSAAIEEHH 2L 14,000 20,000 A 6,000

405 XHA&HF S HI 14,000 20,000 A 6,000

01 XML 2 FF S| 14,000 20,000 A 6,000
OFEBSAHH 2L 14,000

S AAY (ZE3XK) 139,290 862,800 AT723,510

24| 139,290 862,800 ANT723,510

=4l 139,290 862,800 AT723,510

201 gBt24y| 66,300 788,000 AT721,700

01 AP 2t 2| H| 66,300 68,000 A 1,700




2N ABSXK
M HYHAAH (2 XKD
ch: JI24dd| (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
OFEs g F4& 66,300
202 044l 68,250 70,000 A 1,750
01 2L Y| 68,250 70,000 AN 1,750
OFEs g2 =4 68,250
203 R F & 4,740 4,800 A B0
04 EASHEIRFAH| 4,740 4,800 A B0
OXFE X &t 4,740




